Math 3201
Math 3201  - 1.1-1.3 Due: ___________________



Name: __________________


Answer each question in the space provided.  Show all necessary steps to receive full marks.
1. Out of forty students, 14 are taking English Composition and 29 are taking Chemistry.  Complete a Venn diagram to answer the following questions.
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a) If five students are in both classes, how many students are in neither class?  ______
b)  How many are in English Composition or Chemistry? _________
2. Given the following Venn diagrams, shade the specified regions:
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3. In a school of 320 students, 85 students are in the band, 200 students are on sports teams, and 60 students participate in both activities.  How many students are not involved in either? (Use a Venn diagram in your solution.)
Answer: ________________
4. The guidance counselor is planning scheduling for 30 students.  16 students say they want to take French, 16 want to take Italian, and 11 want to take Russian.  5 say they want to take both French and Russian, and of these, 3 want to take Italian as well.  5 want only Russian, and 8 want only Italian.  How many students want French only?  (Use a Venn diagram in your solution.)

Answer: ________________
Circle the correct answer for questions 5 – 7.

5. If A = {1, 3, 5, 7, 9} and B = {2, 3, 5, 7}, what is A U B?

a) {3, 5, 7}

b) {2, 3, 5, 7

c) {2, 3, 5, 7, 9}

d) {1, 2, 3, 5, 7, 9}

6. If A = the set of factors of 15, B = the set of prime numbers less than 10, and C is the set of even numbers less than 9, what is (A U B) ∩ C?

a) {1, 3, 5}

b) {1, 2, 3}

c) {2, 3, 5}

d) {2}

7. If P = the set of whole numbers less than 5, Q = the set of even numbers greater than 3 but less than 9, and R = the set of factors of 6, what is (P ∩ Q) U (Q ∩ R)?

a) {4}

b) {4, 6}

c) {4, 6, 8}

d) {1, 2, 3, 4, 6, 8}

8. The diagrams below represent a class of children.

Let G be the set of girls. Let F be the set of children who like football.

a) Which diagram has the shading that represents girls who like football?  ______

b) Which diagram has the shading that represents boys who dislike football?______
9. The diagrams below represent the activities chosen by youth club members.  They can choose to play tennis (T), badminton (B), or squash (S).


a) Which has the shading to represent those who play all 3 sports?  ____________
b) Which has the shading to represent those who play tennis and badminton, but not squash?  _____________

10. Consider the following sets:

A = {Naturals numbers which are multiples of 3 and less than 30}
B = {Natural numbers divisible by 4 and between 20 and 45}

Are sets A and B disjoint sets?  Explain your answer.
